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Paper-11 Capital Market Analysis & Corporate Laws 

 

Time Allowed: 3 hours                                                                                                  Full Marks: 100 

 

Working notes should form part of the answers. 

Wherever necessary, suitable assumptions should be made and indicated in answer by the 

candidates. 

 

 

Section I  

(Capital Market Analysis) 

Answer Question No.1 (carrying 20 marks) which is compulsory and answer any two (carrying 20 

marks each) from the rest in this section 

 

 

 

1. (a) In each of the cases given below, one out of four is correct. Indicate the correct answer 

(=1 mark) and give workings/ reasons briefly in support of your answer (=1 mark)     [7 x 2] 

 

(i) The shares of NALANDA LTD. are trading at ` 370. If put options with a strike price of ` 380 

are priced at ` 20, the intrinsic value and time value of the options respectively are : 

(A) ` 8, ` 8 

(B) ` 10, ` 10 

(C) ` 8, ` 10 

(D) Incomplete information 

 

(ii) BSE Index is currently quoting at 1620. Each lot is 300. MS ASHA, an investor purchases a 

July contract at 1710. She has been asked to pay 8% initial margin. What is the amount of 

initial margin required to be paid by her? 

(A) ` 31,800 

(B) ` 41,040 

(C) ` 44,810 

(D) None of the above 

 

(iii) MR. ROHON has purchased a stock of MAX OILS LTD. (MOL). Currently the company pays 

dividend of ` 8.50 per share. Thereafter the dividend is expected to grow at a constant 

rate of 6.5% p.a. the stock of MOL has beta of 1.40. If the risk free rate of return is 7.5% 

p.a. and the expected market return is 12% p.a., what would be the stock‟s expected 

price four years from now? 

(A) ` 137.79 

(B) ` 159.53 

(C) ` 163.18 

(D) None of the above 
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(iv) The closing prices of the stock of LORRETO LTD on five consecutive trading days 

are as under: 

Days Closing Prices(`) 

0 

1 

2 

3 

4 

274.90 

275.60 

268.00 

270.00 

272.00 

 

The Relative Strength of the stock of Torrent Ltd. is  

(A) 1.0169 

(B) 1.0366 

(C) 1.0925 

(D) None of the above 

 

(v) MS. SADAB holds a portfolio consisting of two stocks-stock A and stock B. Stock 

A has a standard deviation of returns of 0.6 and stock B has a standard 

deviation of 0.80. The correlation co-efficient of the two stock returns is 0.50. If 

MS. Sadab holds equal amount of each stock, what will be risk of the portfolio 

consisting of two stocks? 

(A) 0.40 

(B) 0.52 

(C) 0.61 

(D) Insufficient Information 

 

(vi) MR.AMIT is planning to construct a minimum risk portfolio by investing in the 

shares of ARIHANT LTD. and SPARK LTD. The risk associated with the returns of 

Arihant Ltd. and Suzlon Ltd. are 23% and 25% respectively. If the co-efficient of 

correlation between the returns of shares of both companies is “O” , the 

proportion of Funds to be invested in the shares of ARIHANT LTD. is 

(A) 45.84% 

(B) 54.16% 

(C) 66.67% 

(D) Insufficient Information  

 

(vii) SIDBI came out with an issue of Deep discount Bond. Each bond having a face 

value of `1,00,000 was issued at a deep discounted price of `5,000 with a 

maturity period of 25 years from the date of allotment.  The corporate tax rate 

applicable is 20%. If the Indexed Cost of acquisition is 6%, what will be the Post 

tax Yield to maturity of the bond? 

(A) 14.90% 

(B) 11.96% 

(C) 10.10% 

(D) None of (A), (B), (C ) 
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(b) Choose the most appropriate one from the stated options and write it down:      [6×1] 

  

(i) The following Act empowers the government departments to accept filing, creating and 

retention of official documents in the digital format: 

(A) Indian Companies Act, 1956 

(B) E commerce Act, 2011 

(C) Information Technology Act, 2000 

(D) None of the above 

 

(ii) The Board for Financial Supervision (BFS) was constituted in November, 1994 as a 

Committee of: 

(A) The Ministry of Finance 

(B) The Central Board of Directors of the RBI 

(C) The Ministry of Company Affairs 

(D) Incomplete information 

 

(iii) Which of the following statements is/are true? 

(A) If market price = face value, then Coupon Rate > YTM > Current Yield 

(B) If market price < face value, then Coupon Rate > Current Yield > YTM 

(C) If market price > face value, their Coupon Rate > Current Yield > YTM 

(D) If market price = face value, then Coupon Rate < Current Yield < YTM 

 

(iv) Which of the following option strategies involve the purchase of call options and writing 

of put options are exactly the same exercise price? 

(A) Synthetics 

(B) Spreads 

(C) Conversions 

(D) None of the above 

 

(v) If an investor believes that the probability of the price of a stock moving up is 

higher than the probability of the price plummeting, he/she should  

(A) Buy an in-the-money put and sell an in-the-money call. 

(B) Buy an in-the-money call and sell an in-the-money put. 

(C) Buy an in-the-money call and buy an out-of the money put. 

(D) Sell an out-of-the money call and buy an in- the – money put 

 

(vi) Which among the following increases the NAV of a Mutual Fund Scheme? 

(A) Value of investments 

(B) Receivables 

(C) Accrued Income 

(D) All of the above. 
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2. (a) Discuss about the two categories of underwriters in India.            [6] 

 

(b)  Mr. DEBASHIS KAPOOR, analyst at PRUDENTIAL SECURITIES LTD is considering the 

stocks of SUZLON LTD. and ZOOM LTD. for investment. Expected returns on these 

stocks depend on the growth rate of the GDP. The conditional Returns of the 

Stocks and the returns of the market are given below: 

 

Economic Scenario  

(GDP Growth rate) 

Probability 

 

Returns associated with (in %) 

Suzlon Ltd. Zoom Ltd. Market 

Less than 1.00% 0.20 -12 15 -15 

1.00-2.50% 0.15 30 35 20 

2.50-5.00% 0.30 40 20 30 

5.00-7.00% 0.10 20 -30 35 

More than 7.00% 0.25 -15 -10 -10 

 

The expected risk-free real rate of return and the premium for inflation are 3% 

and 5% per annum respectively. Assume that CAPM holds good in the market.  

 

You are required to: 

(i) Calculate the ex-ante betas for two stocks. 

(ii) Find out whether the stocks of Suzlon Ltd. and Zoom Ltd. are under price or 

over price. 

(iii) Determine the proportions of systematic and unsystematic risk in the two 

stocks. 

(iv) Determine which stock the analyst would suggest to invest, if he is required 

to select only one stock. Justify.                                             

[6+2+4+2=14] 

 

3. (a) The Information Technology Act 2000, though appears to be self sufficient, takes mixed 

stand when it comes to many practical situations. 

Outline few places where it looses its certainty.             [5] 

 

(b) The market received rumour about ASHEEKA PHARMA LTD‟S  tie up with a multinational 

company. This has included the market price to move up . If the rumour is false, Asheeka 

Pharma Ltd.‟s stock price will probably fall dramatically. To protect from this Ms. Kritika, 

an investor has bought the call and put options. 

She purchased a 3-month call option for 100 Stocks in Asheeka Pharma Ltd. at a 

premium of `12 per stock with an exercise price of `250. She also purchased a 3-month 

put option for 100 stocks of the said company at a premium of `6 per stock with an 

exercise price of `240.  

Required: 

(i) Determine the Investor‟s (Kritika) position if the tie up offer bids the price of Asheeka 

Pharma Ltd‟s stock up to `260. in 3 months. 
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(ii) Determine the Investor‟s (Kritika) position if the tie up programme fails and the price of 

stock falls to `215 in 3 months.                  [1+3+3=7]

    

(c) Bonds of MOUSHIP TECH LTD., an Engineering Company which carries AA rating with 5 

years to maturity and 14.50% coupon rate, payable annually, is being traded at `1015.50. 

You as a Fund Manager of the Trust Fund, a 80% Debt fund, want to ascertain the intrinsic 

Value and take a decision accordingly. Face Value of the bond is `1000. 
 

Your Asset Management Company has laid down the guideline that for AA rated 

Instruments, the discount rate to be applied is 364 day T-Bill rate+4%. (Assume the 364 

day T-Bill rate to be 10%). 
 

You are required to  

(i) Calculate the Intrinsic value of the Bond 

(ii) Calculate the current yield (CY) and the yield to Maturity of the bond (YTM). 

 

Note:  (i) Ignore Flotation Costs and transaction costs, 

           (ii) Extracted from the table of PV. 

 

 Interest rate 10%           11%             12%              13%                  14%                 15% 

PVIFA (5 years) 3.791         3.696          3.605            3.517                3.433              3.352 

PVIF (5 years) 0.621         0.593          0.567           0.543                 0.519              0.497 

                                      [3+4=7] 

 

4.  (a) What do you mean by ETF (Exchange Traded Funds)? State in brief the applications of it. 

[2+4=6] 

 

(b) ZESLIN TEXTILES LTD. (ZTL) has under consideration refunding of ` 3 crore outstanding 

Bonds at ` 1000 per value as a result of recent decline in long term interest rates. The 

bond refunding plan involves issue of ` 3 crore of New Bonds at the lower interest and the 

proceeds to call and retire the ` 3 crore outstanding bonds.  

The details of the new bonds are: 

(i)  Sale at per value of ` 1000 each 

(ii) 11 per cent coupon rate 

(iii) 20 years maturity  

(iv) Floatation costs ` 4,00,000 and 

(v) A 3 month period of overlapping interest 

 

ZTL's outstanding Bonds were initially issued 10 years ago with a 30 year maturity and 13 

per cent coupon rate of interest. 

They were sold at ` 12 per bond discount from per value with floatation costs amounting 

to ` 1,50,000 and their call at ` 1,130. 

ZESLIN's Marginal tax rate is 35 per cent.  

 

Required:  



MTP_Final_Syllabus 2008_Jun 2015_Set 1 
 

Academics Department, The Institute of Cost Accountants of India (Statutory Body under an Act of Parliament) Page 6   

 

(i) Analyse the Bond refunding proposal.  

(ii) Would you recommend it? Why? 

 

Note: 

Extracted from the Table of PV  

 

Interest rate 7% 7.15% 8.45% 11% 13% 

PVIF (20 years)  

PVIFA (20 years) 

0.25842  

10.59401 

0.25128 

10.47161 

0.19743 

9.49787 

0.12403 

7.96336 

0.08678 

7.02477 

           [3+3+2+1=9] 

 

(c) Identify the hedging strategies that would be required using the Index Futures under the 

following circumstances:  

Stock Position Beta No. of 

shares 

Price (`) Hedge 

needed 

TCS 

WIPRO 

CMC 

TSL 

INFOSYS 

Long 

Long 

Short 

Short  

Long 

1.30 

1.20 

1.10 

0.80 

1.00 

1000 

1000 

1000 

1000 

1000 

1900 

800 

300 

400 

1800 

Full  

Full  

90% 

80% 

120% 

                 

Therefore, higher the Beta higher will be the hedge ratio i.e., the value or futures position 

would be proportionately be higher and vice-versa. Also the need for full or partial 

hedging would also have a bearing on the amount of Future exposure.  

 

Futures position  = Beta × No. of Shares × Price × % Hedging Required 

For the first Case  = 1.30 × 1000 × 1900 × 1.00 = ` 24.70 Lakh. 

 

Stock Original 

Position 

Beta No. of 

Shares 

Price 

(`) 

Hedge 

Needed 

Hedge 

Position 

Future Strategy 

(`) in Lakh 

TCS Long 1.30 1000 1900 Full Short  Short  24.70 

WIPRO Long 1.20 1000 800 Full Short  Short  9.60 

CMC Short 1.10 1000 300 90% Long  Long  2.97 

TSL Short 0.80 1000 400 80% Long  Long  2.56 

INFOSYSs Long 1.00 1000 1700 120% Short  Short  20.40 

[2+3=5] 
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Section II 

(Corporate Laws) 

 

Answer Question 5 (carrying 10 marks) which is compulsory and answer any two (carrying 15 

marks each) from the rest in this section. 

 

5. (a) Choose the most appropriate alternative from the stated options and write it down:   [5×1] 

(i) Under the Companies Act, 2013, the first auditors shall hold office up to - 

(A) The end of the statutory meeting 

(B) The end of the period as prescribed by the articles of the company 

(C) The end of three years from the date of appointment 

(D) Till the end of sixth Annual General Meeting 

 

(ii) Buy back of equity shares in a financial year shall not exceed: 

(A) 25% of authorized capital; 

(B) 25% of called-up capital; 

(C) 25% of paid up capital; 

(D) 25% of subscribed capital. 

 

(iii) Section 136 of Companies Act, 2013, requires a company to circulate the financial 

statement and other documents. Which of the following documents need not be 

circulated as per the provision? 

(A) Financial Statements; 

(B) Consolidated Financial Statements (if any); 

(C) Auditor‟s Report; 

(D) Bank Statements. 

 

(iv) A person found guilty of tampering with the minutes shall be punishable with a minimum 

fine of  _______. 

(A) ` 50,000 

(B) ` 25,000 

(C) ` 10,000 

(D) ` 1,00,000 

 

(v) As per provisions of Section 149 of Companies Act, 2013 every company which is 

incorporated under Companies Act, 2013 and is covered in the prescribed class(es) of 

Companies shall appoint one woman director within ______________of its incorporation 

(A) 4 months 

(B) 3 months 

(C) 6 months 

(D) 12 months 

 

 

(b) Fill in the blanks in the following sentences by using appropriate word(s)/phrase(s)/ 

number(s):                          [5×1] 

(i) _______ is not a linear process; it is the balancing of a number of interwoven elements. 
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(ii) As per Section 123 of the Companies Act, 2013 the amount of dividend shall have to be 

deposited from the date of declaration of such dividend in a separate bank account 

within ________ days. 

 

(iii) The provisions relating to filling of financial statements with registrar and internal audit are 

contained in __________ respectively. 

 

(iv) Section 174 of Companies 2013 states that quorum required for a Board meeting is the 

higher of 

a. 1/3 of the total strength or 

b.  2 directors. 

Here, total strength shall not include ___________. 

(v) Powers of Central Government to make rules relating to winding up is contained in 

Section ______________ of Companies Act, 2013. 

 

 

6. (a) Poly Ltd., (hereinafter referred to as „Seller‟), manufacturer of footwears entered into an 

agreement with City Traders (hereinafter referred to as „Purchaser‟), for the sale of its 

products. The agreement includes, among others, the following clauses: 

(i) That the Purchaser shall not deal with goods, products, and articles by whatever 

name called, manufactured by any person other than the Seller. 

(ii) That the Purchaser shall not sell the goods manufactured by the Seller outside the 

municipal limits of the city of Secunderabad. 

(iii) That the Purchaser shall sell the goods manufactured by the Seller at the price as 

embossed on the price label of the footwear. However, the purchaser is allowed to 

sale the footwear at prices lower than those embossed on the price label. 

You are required to examine with relevant provisions of the Competition Act 2002, the 

validity of the above clauses. Section 3(1) prohibits entering into any agreement in 

respect of production, supply, distribution, storage, acquisition or control of goods or 

provision of services, which causes or is likely to cause an appreciable adverse effect on 

competition within India. Any such agreement, if made, shall be void.          [5] 

 

(b) Board of directors of Sonia Limited passed a resolution for payment of sitting fees to 

directors and the same was shown as fees due to directors in the balance sheet of the 

company. Examine whether this provision of fees due to directors in the balance sheet can 

be considered as an effective enforceable acknowledgement of debt of the company. 

Answer with reference to Companies Act, 2013.              [5] 

 

(c) Advice Suresh Ltd, on the manner of implementing CSR as per Companies Act, 2013. 

                   [5] 

7. (a) In the context of management audit, what is meant by “control risk” vis-a-vis detection 

of material misstatements in the financial statements? In this regard, what is “Control Risk 

at the maximum” and “Control Risk at less than the maximum”?   [1+3=4] 

 

(b) SHIKSHA TELECOM LTD., a private mobile operator had furnished confidential information 
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relating to customer complaints lodged with the company during the quarter ended 

31.3.2012 to a public authority. On an application under the Right to Information Act, 

2005, the public authority wants to furnish the said information. The authority seeks the 

objections of SHIKSHA TELECOM LTD. 

Can SHIKSHA TELECOM LTD. ask the public authority not to furnish the same on the 

grounds that the said information is confidential and that it may endanger its image in the 

market?                  [3] 

 

(c) Can it be said that management audit incorporates in itself, an efficiency audit? What 

are the main objects of efficiency audit?      [1+2=3] 

 

(d) Under provisions of Companies Act, 1956, relating to producer company, examine 

whether the office of director of such company shall fall vacant in the following 

circumstances: 

(i)  X, a Director of ABC Ltd., a producer company has made a default in payment of 

loan taken from a company and default continues for 60 days.  

(ii)  Z, a Director of the above company could not call the Annual General Meeting for 

the company due to some natural calamity occurred three days before the Schedule 

date.                  [5] 

For part (d) of the above question, provisions relating to Companies Act, 1956 is considered 

while answering since corresponding sections of Companies Act, 2013 are still not enforced. 

 

8. (a) “Corporate governance extends beyond corporate law. Its fundamental objective is not 

mere fulfillment of the requirements of law, but in ensuring commitment of the Board of 

directors in managing the company in a transparent manner for maximizing 

stakeholders‟ value.” 

In the light of this statement, discuss the various factors which add greater value through 

good governance.                 [8] 

 

(b) A Public Company secures residential accommodation for the use of its managing 

director by entering into a license arrangement under which the company has to deposit 

a certain amount with the landlord to secure compliance with the terms of the license 

agreement. Can it be considered as a loan to a director?            [4] 

 

(c) Board meetings were held on 24th November, 2014 and 15th December, 2014. Mr. 

Rameshwar, who was the chairman of these two Board meetings died on 20th December, 

2014, without signing the minutes. How should the minutes be signed and by whom? 

                    [3] 


